Algebra basics
Higher worksheet

10)

11)

12)

13)

14)

Simplify 4p + p

Simplify 4p x p

Simplify 3m + 6 + 8m — 2

Simplify 3m + 6 — 8m — 2

Simplify —ba x 2m x 3m

Simplify 7z — 222 — by — 8x + zy + =

Given that ¢t = 3 and u =5, find the value of 2t + 3u

Given that ¢t = 3 and u =5, find the value of 2tu

Given that ¢ = 3 and u =5, find the value of #?u

Given that ¢ = 3 and u =5, find the value of tu?

Given that ¢ = 3 and u =5, find the value of (tu)?

Expand 2(z - 7)

Expand z(x — 7)

Expand 3z(2z — 7)
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Algebra basics
Higher worksheet

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

Expand (z + 3)(z—7)

Expand (z + 3)(z — 3)

Expand (22 — 5)(z — 1)

Expand (z + 3)(2 — z)

Expand (a + 11)(b — 2c)

Factorise z2 — 122 + 11

Factorise z2 + 5z — 14

Factorise 222 — 23z — 12

Factorise 622 — 21z

Factorise bx2 + 4x — 12

Factorise 422 — 24z + 11
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Algebra basics
Higher worksheet

10)

11)

12)

13)

14)

Simplify 4p + p

5p

Simplify 4p x p

4p?

Simplify 3m + 6 + 8m — 2

lm+4 or 4+ llm
Simplify 3m + 6 — 8m — 2

5m+4 or 4-5m
Simplify —5a x 2m x 3m

-30am? or -30m?a
Simplify 7z — 222 — by — 8x + zy + =

2x? = dxy or -dxy-2x*
Given that ¢t = 3 and u =5, find the value of 2t + 3u

2

Given that ¢t = 3 and u =5, find the value of 2tu
30

Given that ¢ = 3 and u =5, find the value of #?u
45

Given that ¢ = 3 and u =5, find the value of tu?
75

Given that ¢ = 3 and u =5, find the value of (tu)?
225

Expand 2(z - 7)
2x -4

Expand z(z — 7)
x% = Tx

Expand 3z(2z - 7)
6x> - 2Ix
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Algebra basics
Higher worksheet

15)

16)

17)

18)

19)

20)

21)

22)

23)

24)

25)

Expand (z + 3)(z — 7)
x*—dx -2l

Expand (z + 3)(z - 3)
x*-9

Expand (22 — 5)(z — 1)
2x>-Tx+5

Expand (z + 3)(2 — 2)
x> -x+6

Expand (a + 11)(b - 2¢)
ab-2ac +llb-22c

Factorise z% — 12z + 11
(x-1x-1

Factorise z2 + bz — 14

(x - 2)x +7)

Factorise 222 — 232z — 12
(x - 12)2x + 1)

Factorise 622 — 21z

3x(2x - 7)

Factorise bx2 + 4x — 12

(x +2)(5x - 6)

Factorise 422 — 24z + 11
2x-12x-1)
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